

Directions:

- \* Show your thought process (commonly said as "show your work") when solving each problem for full credit.
- \* If you do not know how to solve a problem, try your best and/or explain in English what you would do.
- \* Good luck!

Problem	Score	Points
1		10
2		10
3		10
4		10
5		10
		50



1. Short answer questions:

No.

(a) If a function is continuous at x = a, is it differentiable at x = a? Explain for full credit.

No. A function with a complete product 
$$x = a$$
  
is continuous but not differentiable.  
(b) Suppose  

$$\lim_{x \to 2^+} f(x) = 2.00001 \qquad \lim_{x \to 2^-} f(x) = 2$$
Is it true that  $\lim_{x \to 2} f(x) = 2$ ?  

$$\lim_{x \to 2^+} \int f(x) = x \text{ is is } x \text{ if and only if } x \text{ if$$

(c) Suppose you evaluate a limit

$$\lim_{x\to-5}\frac{f(x)}{g(x)}=\cdots=\frac{0}{0}$$

**What global factor** do you need to generate in the numerator/denominator to cancel?

2. Perform the given instruction. Remember to use the relevant laws/properties and **fully** simplify.

Not simplifying = lose points.

-

—

(a) Completely simplify: 
$$\frac{1}{x} - \frac{1}{x+h}$$
 Compared fraction Focs on numerator  
(a) Completely simplify:  $\frac{1}{x} - \frac{1}{x+h} - \frac{x}{x}$   
 $\frac{x+h}{x} - \frac{1}{(x+h)} - \frac{x}{x}$   
 $= \frac{\frac{x+h}{(x+h)x} - \frac{x}{(x+h)x}}{h}$   
 $= \frac{\frac{x+h}{x} - \frac{x}{(x+h)x}}{h}$   
 $= \frac{\frac{x+h}{x} - \frac{x}{(x+h)x}}{h}$   
 $= \frac{\frac{x}{(x+h)x}}{h} - \frac{\frac{x}{(x+h)x}}{h}$   
 $= \frac{\frac{h}{(x+h)x}}{h} - \frac{\frac{x}{(x+h)x}}{h}$   
 $= \frac{\frac{h}{(x+h)x}}{h} - \frac{1}{h}$   
 $= \frac{\frac{h}{(x+h)x}}{h} - \frac{1}{h}$   
 $= \frac{1}{(x+h)x} - \frac{1}{h}$   
(b) Expand:  $(3x^2 + 1)(4x^4 - 2x) = (16x^3 - 2)(x^3 + x)$   
 $= (16x^3 - 2)(x^3 + x)$   
(c) Expand:  $(3x^2 + 1)(4x^4 - 2x) = (16x^3 - 2)(x^3 + x)$   
 $= 12x^4 - 6x^3 + 4x^4 - 2x - (16x^4 - 16x^4 + 2x^3 - 2x)$   
 $= \frac{12x^4 - 6x^3 + 4x^4 - 2x - (16x^4 - 16x^4 + 2x^3 + 2x)$   
 $= -\frac{12x^4 - 6x^3 + 4x^4 - 2x - (16x^4 - 16x^4 + 2x^3 + 2x)$   
 $= -\frac{12x^4 - 6x^3 + 4x^4 - 2x}{x^4 - 12x^4 - 4x^3}$   
 $= -\frac{1}{4x^3}(x^3 + 3x + 1)$ 

(c) Rationalize the numerator: 
$$\frac{\sqrt{x-h}-\sqrt{x}}{h}$$
  
 $A = B$   $A + B$   $A^{2} = B^{2}$   
 $\frac{\sqrt{x-h}^{2}-\sqrt{x}}{h} \cdot \frac{\sqrt{x-h}^{2}+\sqrt{x}^{2}}{\sqrt{x-h}^{2}+\sqrt{x}^{2}} = \frac{(\sqrt{x+h}^{2})^{2}-(\sqrt{x}^{2})^{2}}{h \cdot (\sqrt{x+h}^{2}+\sqrt{x}^{2})}$   
 $h = \frac{\sqrt{x}-h-x}{h \cdot (\sqrt{x-h}^{2}+\sqrt{x}^{2})}$   
 $= \frac{-h}{h \cdot (\sqrt{x-h}^{2}+\sqrt{x}^{2})}$   
 $= \frac{-h}{h \cdot (\sqrt{x-h}^{2}+\sqrt{x}^{2})}$   
 $= \frac{-h}{h \cdot (\sqrt{x-h}^{2}+\sqrt{x}^{2})}$   
 $(d) \text{ Simplify:} \frac{(2x^{3}-x)^{6}(x-4)^{3}-(2x^{3}-x)^{6}(x-4)^{2}}{(2x^{3}-x)^{6}}$   
 $T = h \cdot (x - x)^{2}$   
 $d) \text{ Simplify:} \frac{(2x^{3}-x)^{6}(x-4)^{3}-(2x^{3}-x)^{6}(x-4)^{2}}{(2x^{3}-x)^{6}}$   
 $T = h \cdot (x - x)^{2}$   
 $d) \text{ Simplify:} \frac{(2x^{3}-x)^{6}(x-4)^{3}-(2x^{3}-x)^{6}(x-4)^{2}}{(2x^{3}-x)^{6}}$   
 $T = h \cdot (x - x)^{2}$   
 $d) \text{ Simplify:} \frac{(2x^{3}-x)^{2}(x-4)^{2}}{(2x^{3}-x)^{6}(x-4)^{2}}$   
 $d) \text{ Simplify:} \frac{(2x^{3}-x)^{2}}{(2x^{3}-x)^{2}}$   
 $d) \text{ Simplify:} \frac{(2x^{3}-x)^{2}}{(2x^{3}-x)^{2}}}$   
 $d) \text{ Simplify$ 

## this means you must pass VLT.

- 3. Draw the graph of a function which satisfies the following:
  - (a) f(-2) = 2
  - (b) f(2) = -2
  - (c)  $\lim_{x \to 2} f(x) = 1$
  - (d)  $\lim_{x \to -2^{-}} f(x) = 0$

(e) 
$$\lim_{x \to -2^+} f(x) = 1$$

(f) 
$$\lim_{x\to 0} f(x) = \infty$$







- 4. Suppose  $f(x) = 3x^2 x$ .
  - (a) What is the limit definition of the derivative f'(x)? Write it down.

$$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$

(b) Find f'(x) for the given function f(x). You must use the limit definition to receive credit.

$$f'(x) = \lim_{h \to 0} \frac{\int (x+h) - f(x)}{h}$$

$$= \lim_{h \to 0} \frac{3(x+h)^{2} - (x+h)^{2} - (3x^{2} - x)}{h}$$

$$= \lim_{h \to 0} \frac{3(x+h)^{2} - (x+h)^{2} - (3x^{2} - x)}{h}$$

$$= \lim_{h \to 0} \frac{3(x^{2} + 2xh + h^{2}) - x - h - 3x^{2} + x}{h}$$

$$= \lim_{h \to 0} \frac{3x^{2} + 6xh + h^{2} - x - h - 3x^{2} + x}{h}$$

$$= \lim_{h \to 0} \frac{6xh + h^{2} - h}{h}$$

$$= \lim_{h \to 0} \frac{6xh + h^{2} - h}{h}$$

$$= \lim_{h \to 0} \frac{6xh + h^{2} - h}{h}$$

$$= \lim_{h \to 0} \frac{6xh + h^{2} - h}{h}$$

$$= \lim_{h \to 0} \frac{6xh + h^{2} - h}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x + h - 1}{h}$$

$$= \lim_{h \to 0} \frac{6x - 1}{h}$$

$$= \frac{1}{2} \int \frac{1}{(1) \cdot (x - 1)}$$

$$= \frac{1}{2} \int \frac{1}{(x - 1)}$$

$$= \frac{1}{2} \int \frac{$$

5. Find the derivative of the following functions. You may use formulas.

(a) 
$$f(x) = 999$$
  
$$\int f(x) = 0$$

(b) 
$$g(a) = -a^{2}$$
  

$$\int_{a}^{b} \left[a^{2}\right] = -\frac{J}{Ja} \left[a^{2}\right]$$